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BaseballElimination Problem

Given : * List of teams <to ....,ta)
* Current standings Two, ..., Wa]

Wi = current # of wins by ti

* Remaining games19:..... Int

9 ;
= (ti

, tu)
n

Game 9;
between ti and to

Question: Can to finish with the most wins ?
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BaseballElimination Problem

Given : * List of teams <to ....,ta)
* Current standings Two, ..., Wa]
* Remaining games19:..... Int

storCantofinishwiththe most wis
e

more games.

* Search through all games involving to
* Assign to the win

. (i . e. Wo < Wo +1)
* Remove game [Preprocessing takes O(n) time]



BaseballElimination Problem

Given : * List of teams <to ....,ta)
* Current standings Two, ..., Wa]
* Remaining games19:..... Int

Question: Can to finish with the most wins ?
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BaseballElimination Problem

Given : * List of teams <to ....,ta)
* Current standings Two, ..., Wa]
* Remaining games19:..... Int

Question: Can to finish with the most wins ?

Observation . I remaining game
results in-very

an additional win for some team .

Can we allocate all of these wins (i
.

e . games)
such that to is the leader !
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Correctness The max flow in 4 equals n
-

andonly if to can finish with the most wins

after the remaininga games.

1) If the max flow is M
I

there is an "allocation" of wins stwishes in 11.

(E) If the max flow is < n
.

to cannot finish w/ the most wins.



1) Consider a flowf ofa units

↳ Devise an "allocation" of wins to teams as follows.

For each unit of 9j-ti flow
,

Assign + additional win to ti

-iz With



1) Consider a flowf ofa units

↳ Devise an "allocation" of wins to teams as follows.

For each unit of 9j-ti flow
,

Assign + additional win to ti

pacityconstraints , team ti is "allocated"

at most ci = No - Wi units.

=> if team ti wins each game
allocated

then Wit Ci <Wo .



1) Consider a flowf ofa units

↳ Devise an "allocation" of wins to teams as follows.

For each unit of 9j-ti flow
,

Assign + additional win to ti

pacityconstraints , team ti is "allocated"

at most ci = No - Wi units.

=> if team ti wins each game
allocated

then Wit Ci <Wo .

Byconstruction " units of flow covers all

n remaining games

·F
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(E) Suppose max flow < n
.

7·⑤ A
&
min cut must include some

(ti
,
t)(tj , t)

=> Cannot allocate a win for each game who

violating team capacity constraints.
--

H

So some ti ends with

> Wi + Ci = Wo wins
.
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fp E Foreground likelihood

bp = Background likelihood



SegmentationProblem
· 0000000

② ②

Given : Pixels in a grid ·0000
&

e ·
· ·

..0000.·↳· · ·

Foreach pixel P · 888888 o

fp = Foreground likelihood

bp = Background likelihood(Eeach pair of neighboring pixels pig

Spg = Separation penalty

↳ suffered if p in foreground
Cor Viceand q

in background versa)



SegmentationProblem
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fp E Foreground likelihood

bp = Background likelihood

For each Spq
= 0

-irof neighboring pixels piq

(
if p ,9
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Spg = Separation penalty not

neighbors
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Find partition of pixels (F
, B) maxim
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Find a partition of pixels to
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Which edges are cut ?

fl:e (p , t)
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q - B for PE F for ptF , gtB .


